05 octobre 2016 2nde-10 exercices

13-14-développement.gwb - 1/1 - 05 oct. 2016 11:37:07

@ Réduire les expressions suivantes :
A(X) = 5(x-1)-2(x-2)-3x+1 ;
B(x) = -(x-3)+3(2x-1)-2(2x-3) ;
C(x) = x-2-5(x-3)+3(-x-4) .,

A(X) = sﬁ‘?—?) _2(X—2)—3X+ 1
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A(X) = 2x(x-3) -[5Xx—1)(x+2) X
B(x) = —X(Xx+2)-3(x2-2) +2x2-6 ;
C(x) = (x+3)(-2x+1)-3x(x-2).

0 Développer, réduire et ordonner les expressions :

B(x) = -(x-3)+3(2x-1)-2(2x-3) ;
- Ly b3 3 -4+l

ﬁ'(x): ~ + €
C(x) = Xx-2-5(x-3)+3(-x-4)
= W= =545 - 3o—4L
Cx)= t3xyq
K2z 2 X (545) Cet &)

B ALY = 15 G —(Sac ~5)(x+2)

- Ve L gxqﬁgacz,,rADX _gx-fln)
= Ix bt bx-Sxt _Aox 1Gx 4o

_ oo M A0

1
N R R £

-5y x +3

@ ) =

L {
(b(;:-c\-—ﬁf?‘..’lﬁt—-")?( 4-6—\—?_1..6
@ - Tlxt-




